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1RYLUD� $]UXQ�� ��������������� 3HUVHSVL� 6LVZD� 7HUKDGDS� 3HODNVDQDDQ�
3HPEHODMDUDQ� *HRJUDIL� GL� 60$� 1HJHUL� �� %XNLWWLQJJL�� 6NULSVL��
3URJUDP� 6WXGL� 3HQGLGLNDQ� *HRJUDIL�� -XUXVDQ� *HRJUDIL�� )DNXOWDV�
,OPX�6RVLDO��8QLYHUVLWDV�1HJHUL�3DGDQJ�������

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQGHVNULSVLNDQ�SHUVHSVL�VLVZD�WHUKDGDS�
SHODNVDQDDQ�SHPEHODMDUDQ�JHRJUDIL�GL�60$�1HJHUL�.RWD�%XNLWWLQJJL�\DQJ�GLOLKDW�
GDUL�WDKDS�SHPEXNDDQ��WDKDS�LQWL��GDQ�WDKDS�SHQXWXS�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� GHVNULSWLI� NXDQWLWLI�� 3RSXODVL�
SHQHOLWLDQ� LQL� DGDODK� VLVZD�NHODV�;,,� MXUXVDQ� LSV� GL� 60$�1HJHUL� ��%XNLWWLQJJL�
\DQJ�EHUMXPODK�����VLVZD��3HPLOLKDQ�VDPSHO�PHQJJXQDNDQ�WDEHO .UDFMLH GHQJDQ�
WLQJNDW� NHVDODKDQ� ���� 6DPSHO� GDODP� SHQHOLWLDQ� LQL� WHUGLUL� GDUL� ��� VLVZD� \DQJ�
GLSLOLK� GHQJDQ� WHNQLN� 5DQGRP� 6DPSOLQJ�� 7HNQLN� SHQJXPSXODQ� GDWD�
PHQJJXQDNDQ�DQJNHW��7HNQLN�DQDOLVLV�GDWD�PHQJJXQDNDQ�VWDWLVWLF�GHVNULSWLI�GDQ�
SHUVHQWDVH�

+DVLO�SHQHOLWLDQ�GLGDSDWNDQ�EDKZD�3HUVHSVL�VLVZD�WHUKDGDS�SHODNVDQDDQ�
SHPEHODMDUDQ� JHRJUDIL� GL� 60$� 1HJHUL� .RWD� %XNLWWLQJJL� GHQJDQ� KDUJD� PHDQ�
������� EHUDGD� SDGD NDWHJRUL� FXNXS� GHQJDQ� UHQWDQJ� VNRU� QLODL� ������������ GDQ�
SHUVHQWDVH� EDQ\DNQ\D� VLVZD� PHQMDZDE� SDGD� UHQWDQJ� VNRU� QLODL� DGDODK� �������
GHQJDQ�ULQFLDQ�SDGD�WDKDS�PHPEXND�EHUDGD�SDGD�NDWHJRUL�NXUDQJ�GHQJDQ�UHQWDQJ�
QLODL�����������GHQJDQ�SHUVHQWDVH�EDQ\DNQ\D�VLVZD�PHQMDZDE�SDGD�UHQWDQJ�VNRU�
QLODL� DGDODK��������SDGD� WDKDS� LQWL�EHUDGD�SDGD�NDWHJRUL� FXNXS�GHQJDQ� UHQWDQJ�
QLODL� ����������� GHQJDQQ� SHUVHQWDVH� EDQ\DNQ\D� VLVZD� PHQMDZDE� SDGD� UHQWDQJ�
VNRU� QLODL� DGDODK� ������� SDGD� WDKDS� PHQXWXS� SHODMDUDQ� EHUDGD� SDGD� NDWHJRUL
NXUDQJ�GHQJDQ�UHQWDQJ�QLODL������GHQJDQ�SHUVHQWDVH�EDQ\DNQ\D�VLVZD�PHQMDZDE�
SDGD�UHQWDQJ�VNRU�QLODL�DGDODK������
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